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Curriculum Outcome

­

  (N5) Determine the square root of positive 
rational numbers that are perfect squares. 

  (N6) Determine an approximate square root of 
positive rational numbers that are non‐perfect 
squares. 

  (SS2) Determine the surface area of composite 
3‐D objects to solve problems

  (N4) **Explain and apply the order of 
operations, including exponents, with and without 
technology.** 
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Cylinder: r= __, h=__

­triangular prism
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Class / Homework

Practice Page 40 ­ 43

Questions :

Page 40­41 
Questions: 3e, 4ab, 5ab, 7

Without 
bottom

a) 29 m 2

b) 25.87m 2
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3) Cube (2,2,2) 

6
2

2
A= b x h

A= 2cm x 2 cm

A= 4 cm2

x 6
=24 cm2

5 cm 

12 cm

12 cm 

6 cm 1

5 cm 

6 cm 1

13 cm 

6 cm 1

A = b x h
A=  12 x 6
A=  72 cm2

A = b x h
A=  5 x 6 
A=  30 cm2

A = b x h
A=  13 x 6 
A=  78 cm2

A = b x h
         2

2

A = 5 x 12
         2

A = 60 
        2

A = 30

2A = 60 cm2

          SA Large = 60+ 72 +30+78
                     =   240 cm2

Triangular Prism 

13 cm 

Total SA =  Triangular Prism  + Cube ­ Overlap
               = 240 cm2 + 24cm2 ­ 8 cm2

               = 256 cm2
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Overlap:  

Area of circle = π r2 
                  = (3.14) (0.5 cm) 2

         = (3.14) 0.25 cm 2

         = 0.785 cm2

   X 2   

1.57 cm2

Area of  cylinder = 2πr2 + 2πrh
                          = 2(3.14)(2cm)2 + 2(3.14)(2cm)(1.5cm)
    = 2(3.14)(4cm) + 2(3.14)(2cm)(1.5cm)
    = 25.12 cm2    +  18.84 cm2

    = 43.96 cm2

Top

Area of  cylinder = 2πr2 + 2πrh
                          = 2(3.14)(0.5cm)2 + 2(3.14)(0.5cm)(4.5cm)
    = 2(3.14)(0.25cm) + 2(3.14)(0.5cm)(4.5cm)
    = 1.57 cm2    +  14.13 cm2

    =  15.7 cm2

Long

Total SA = Cylinder + Cylinder ­ Overlap
               = 43.96 cm 2 + 15.7 cm2 ­ 1.57 cm2

               = 58.09 cm 2

               = 58.1 cm 2

4
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4b) 
Solutions

 Prism 1)

Cube)

Area of  cylinder = 2πr2 + 2πrh
                          = 2(3.14)(0.25m)2 + 2(3.14)0.25m)(3.5m)
    = 2(3.14)(0.0625m2) + 2(3.14)(0.25cm)(3.5m)
    = 0.3925 m2                  +  5.495 m2

    = 5.8875 m2

Front/back side/side Top/Bottom

1.5 m
2.5m

2.5m1.5 m
1.5 m 1.5 m

A= 1.5 m x 2.5 m
   = 3.75 m 2

A= 1.5 m x 1.5 m
   = 2.25 m 2 A= 1.5 m x 2.5 m

   = 3.75 m 2

SA Prism 1 = 2(3.75 m2) + 2(2.25m2) + 2(3.75m2)
                    =  7.5 m 2 + 4.5m2 + 7.5m2

                         = 19.5 m2

Surface area of 1 face = 2.5 m x 2.5m
                                    = 6.25 m 2

6 equal faces x 6 
37.5 m2

Total SA= Rectangular Prism      + Cube     + Cylinder        ­ Total Overlap
     =        19.5 m2               + 37.5 m2      + 5.8875 m2  ­ 0.785 m2

                  =  61.6025 m2

Total SA= Rectangular Prism      + Cube     + Cylinder        ­ Total Overlap
     =        19.5 m2               + 37.5 m2      + 5.8875 m2  ­ 0.785 m2

                 =     19.5 m2               + 37.5 m2      + 5.9 m2  ­ 0.8 m2

                  =  62.1 m2

Or if you rounded to the nearest thenth

Homework solutions
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2.5 m2.5 m

3 m

2.5 m2.5 m

3 m
1.5 m 1.5 m

base

height2 = c2 ­ b2
            = (2.5 m)2 ­ (1.5 m)2
            = 6.25 m2 ­ 2.25m2

            =      4 m2

height  = √4m2

height = 2 m

Triangular prism

A= b x h
         2
A= 3m x 2m
         2

A= 6m2

       2

A= 3 m2

       

2 m

A= b x h
  = 3 m x 1m
  =  3m2

3m 2.5 m 2.5 m

1 m 1 m 1 m

A= b x h
  = 2.5 m x 1m
  =  2.5m2

A= b x h
  = 2.5 m x 1m
  =  2.5m2

Total SA Triangular Prism =  2 triangles + rectangle + rectangle + rectangle
=  2 (3 m2) + 3 m2 + 2.5 m2 + 2.5 m2

=  6 m2 + 3 m2 + 2.5 m2 + 2.5 m2

=  14 m2 

Cylinder

Area of cylinder = 2πr2 + 2πrh
= 2(3.14)(0.5)2 + 2(3.14)(0.5)(2.5)
= 2(3.14)(0.25) + 2(3.14)(0.5)(2.5)
= 1.57 m2          + 7.85 m2

= 9.42 m2

Total Surface =  Triangular Prism + Cylinder ­ total overlap
                        =   14 m2                 + 9.42 m2  ­    1.57 m2

                        = 21.85 m2
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2.8 m2.8 m

2.8 m

2.8 m2.8 m

2.8 m
1.4 m 1.4 m

base

height2 = c2 ­ b2
            = (2.8 m)2 ­ (1.4 m)2
            = 7.84 m2 ­ 1.96m2

            =      5.88 m2

height  = √5.88m2

height = 2.4 m
Triangular prism

A= b x h
         2
A= 2.8 m x 2.4 m
               2

A= 6.72 m2

       2

A= 3.36 m2

       

2.8 m
1.2 m

A= b x h
  = 2.8 m x 1.2 m
  =  3.36 m2

2.8 m
1.2 m

2.8 m
1.2 m

A= b x h
  = 2.8 m x 1.2 m
  =  3.36 m2

A= b x h
  = 2.8 m x 1.2 m
  =  3.36 m2

Total SA Triangular Prism =  2 triangles + rectangle + rectangle + rectangle
=  2 (3.36 m2) + 3.36 m2 + 3.36 m2 + 3.36 m2

=  6.72 m2 + 3.36 m2 + 3.36 m2 + 3.36 m2

=  16.8 m2 

Prism

4.8 m
1.4 m

A= b x h
  = 4.8 m x 1.4 m
  =  6.72 m2

2.8 m
1.4 m

4.8 m
2.8 m

A= b x h
  = 2.8 m x 1.4 m
  =  3.92 m2

A= b x h
  = 2.8 m x 4.8 m
  =  13.44 m 2

Prism = 2 top + 2 side + 2 front
= 2 (6.72) + 2 (3.92) + 2(13.44)
= 13.44     + 7.84      +  26.88
=  48.16

Total SA = Triangular Prism + Rectangular Prism ­ overlap
               =  16.8 m2         + 48.12 m2               ­ 6.72 m2

               = 64.92 m2       ­ 6.72 m2

              = 58.2 m2
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b) Door is 0.5m x 0.5m 
     2 Windows 1.2m x 1.2m 

a) 29 m 2

b) 25.87m 2



Day 55_Section 1.4 _Day 4.notebook

13

November 23, 2018

Triangular Prism

Area of Triangle =  b x h
                                  2

=  (2 m) x (0.75 m)
              2

=  1.5 m2

        2

= 0.75 m2

1.25 m
3 m 2 m

A = b x h
   = 1.25 m x 3 m
   = 3.75 m2

A = b x h
   = 2 m x 3 m
   = 6 m2

1.25 m
3 m

3 m

A = b x h
   = 1.25 m x 3 m
   = 3.75 m2

Total SA = 2 Triangles + Rectangle + Rectangle + Rectangle
               = 2(0.75 m2)    +  3.75 m2    +  3.75 m2  + 6 m2

    = 1.5 m2     +  3.75 m2    +  3.75 m2  + 6 m2

               = 15 m2

of triangular prism

Prism

2 m
3 m

A= b x h
  = 3 m x 2 m
  =  6 m2

3 m
2 m

2 m
2 m

A= b x h
  = 3 m x 2 m
  =  6 m2

A= b x h
  = 2 m x 2 m
  =  4 m2

Prism = 2 top + 2 side + 2 front
= 2 (6) + 2 (6) + 2(4)
= 12    + 12     +  8
=  32

Overlap = b x h
            = 3 m x 2 m
            =  6 m 2

x 2 faces

12 m2

Bottom = b x h
            = 3 m x 2 m
            =  6 m2

without bottom = Triangular Prism + Rectangular Prism ­ overlap ­ bottom
                    =        15 m 2          +       32 m 2             ­ 12 m 2        ­ 6 m 2

                    =    29 m 2

Without 
bottom
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Class / Homework

Review For Test

­ Handout: Surface Area Worksheet
Questions: 1­6 
    answers were on the board
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Worksheet

Answers
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